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EHB 14 0mA7 > T 1000] & 1.670] _ 167,000[3%1 TOcmblE~15cmkm | 140 i
AR LEEEE 050 A 18,100 9,050[2007 > 7L/ X B (BI7L) 15 ~20 210 15
L] K 1 JL(6.5mm) 050 | 80 40[ALFERE HEENETELY 20 ~25 280 ~ 420 2 ~ 3
LR EEEEE 133 A 18,100] 24073757 > FL/ XA _GE#E. BA. B 25 ~30 420 ~ 560 3 ~ 4
BV E EREEE 033 X 18,100 5,.973[3007 ~ FIL/AB (EIR) 30 ~35 560 ~ 700 4 ~ 5
%E 2RI 0052 =& 39,096 2,032 35 ~40 700 ~ 840 5 ~ 6
HESE 001] = 206,136 2,061 40 ~45 770 ~ 1,050 | 55 ~ 75
it 210,229 45 ~50 840 ~ 1,260 6 ~ 9
50 ~55 910 ~ 1470 65 ~ 105
oI 55 ~60 980 ~ 1,680 7 ~ 12
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EXE LEEXS 033 A 18,100 5,973[3007 >~ FIL/AB ([EY) 30 ~35 880 ~ 1,100 4 5
HE 5 KARBRAL 0.052| = 39,096 2,032 35 ~40 1,100 ~ 1,320 5 6
HERE 0.01| *x 206,136 2,061 40 ~45 1,210 ~ 1650 | 55 7.5
&t 210,229 45 ~50 1,320 ~ 1,980 6 9
50 ~55 1,430 ~ 2310 | 65 10.5
7T 55 ~60 1,540 ~ 2,640 7 12
1 A2 B f 1.0 & 2,102 60 ~65 1,650 ~ 2970 | 75 13.5
65 ~70 1,760 ~ 3,300 8 15
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B TEEEXS 0.33] A 18,100 5973|3007 >~ ZFIL/ANB (B 30 ~35 360 ~ 450 4 ~ 5
HE ¥R ARBEE 0.052 = 39,096 2,032 35 ~40 450 ~ 540 5 ~ 6
HERE 0.01| = 206,136 2,061 40 ~45 495 ~ 675 55 ~ 75
i 210,229 45 ~50 540 ~ 810 6 ~ 9
50 ~55 585 ~ 945 65 ~ 1056
7oL 55 ~60 630 ~ 1,080 7 ~ 12
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M 55 S ARBRAY 0.052 = 39,096 2,032 35 ~40 200 ~ 240 5 ~ 6
EHERE 0.01] =* 206,136 2,061 40 ~45 240 ~ 280 6 ~ 7
&t 210,229 45 ~50 280 ~ 320 7 ~ 8
50 ~55 320 ~ 360 8 ~ 9
7o 55 ~60 360 ~ 400 9 ~ 10
1 AN B 1.0] K 2,102 60 ~65 400 ~ 440 10 ~ 11
65 ~70 440 ~ 480 11 ~ 12
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A A cm m | X
ES k- 6 OmMA7Z V7L 100.0| & 1,670 167,000]%1 10cmlUE~15cm=kiE 60 1
EAE LEEXS 0.50[ A 18,100 9,050{2007 > Z)L/ AB(BEFL) 15 ~20 60 ~ 120 1~ 2
Ak it R JL(6~7mm 050 B 80 40[BILMENE HEENEERLY 20 ~25 120 ~ 180 2 ~ 3
HHEEE LEEXS 1.33] A 18,100 24073|757 > I/ AB GE#. B, BAFL) 25 ~30 180 ~ 240 3 ~ 4
EIENE LREEXS 0.33] A 18,100 5,973[3007 > ZIL/AB ([N 30 ~35 240 ~ 360 4 ~ 6
HE ¥ KRR 0.052 = 39,096 2,032 35 ~40 300 ~ 480 5 ~ 8
HESE 0.01] = 206,136 2,061 40 ~45 360 ~ 600 6 ~ 10
&t 210,229 45 ~50 420 ~ 720 7 ~ 12
50 ~55 480 ~ 840 8 ~ 14
FToTL 55 ~60 540 ~ 960 9 ~ 16
1 A2 B 1.0 & 2,102 60 ~65 600 ~ 1,080 10 ~ 18
65 ~70 660 ~ 1,200 11 ~ 20
X1 EEEBIARIROHMELRE LTBEOERESFESECHMEERET I LNTE S, 70 ~75 720 ~ 1,320 12 ~ 22
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EAE LEEXS 0.50] A 18,100 9,050{2007 >~ Z)L/ AB(BEFL) 15 ~20 60 ~ 120 1~ 2
Ak it K1) JL(Bmm) 050] H 80 40[BILMENE HEEBNEERLY 20 ~25 120 ~ 180 2 ~ 3
HHEEE LEEXS 1.33] A 18,100 24073|757 > I/ AB GE#. B, BAFL) 25 ~30 180 ~ 240 3 ~ 4
EIENE LEEXS 0.33] A 18,100 5973|3007 >~ FIL/AB ([EU) 30 ~35 240 ~ 300 4 ~ 5
HE ¥ KRR 0.052 = 39,096 2,032 35 ~40 300 ~ 360 5 ~6
HESE 0.01] = 206,136 2,061 40 ~45 360 ~ 420 6 ~ 7
&t 210,229 45 ~50 420 ~ 480 7 ~ 8
50 ~55 480 ~ 540 8 ~9
7T 55 ~60 540 ~ 600 9 ~ 10
1A B 1.0[ & 2,102 60 ~65 600 ~ 660 10 ~ 11
65 ~70 660 ~ 720 11 ~ 12
X1 EEEBIARIROHMELRE LTBEOERESFESECHMEERET I LNTE S, 70 ~75 720 ~ 780 12 ~ 13
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HE ¥ KRR 0.052 = 39,096 2,032 35 ~40 200 ~ 240 5 ~6
HESE 0.01] = 206,136 2,061 40 ~45 240 ~ 280 6 ~ 7
&t 210,229 45 ~50 280 ~ 320 7 ~ 8
50 ~55 320 ~ 360 8 ~9
7T 55 ~60 360 ~ 400 9 ~ 10
1 A2 B 1.0 & 2,102 60 ~65 400 ~ 440 10 ~ 11
65 ~70 440 ~ 480 11 ~ 12
X1 EEEBIARIROHMELRE LTBEOERESFESECHMEERET I LNTE S, 70 ~75 480 ~ 520 12 ~ 13
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